
Yaasa Chair Essential
Assembly Guide

www.yaasa.com/pages/assembly-chair-essential

rev01

01

03 04

M8x20

3x

M8x20

3x

M6x16

4x

M6x16

4x
M6x45

4x

M6x45

4x

05

02

Ø6mm

4x

Ø6mm

4x

Ø8mm

3x

Ø8mm

3x

Ø8mm

3x

Ø8mm

3x


